YC@QM 2[50]—[570]—[A94K]—

» © o @ © ©

@ ofad e @ ARG #F AER3
2715 KA LR W : @12 016
D @ M LR 15,10, 15, 20, 25, 30

. L2 : @20, 025

Hxt OF ’

o= -xj;o I 5,10, 15, 20, 25, 30, 35, 40, 45, 50
i i : 032, 040, 050, 063, 080, B100
B: H#EHTESY) 5,10, 15, 20, 25, 30, 35, 40, 45, 50, 75, 100

@ FHLZ ® LEALIX|
12 RIS LHZ 12mm AYK : D-AK QEAQ|X| £t
16 : A2IH LHA 16mm AQAX 1 BFE QMAl HAp

20 : AlRIH LE 20mm
25 MZIE LiZE 25mm
32 ARIE W4 32mm

AQX-N © S BMAI NPNEES
AQUX-P : T BMA| PNPRE!

40 : A2IH L 40mm ® LEALX| 7|5
50 : &I LHE 50mm 2715 : olAt

63 1 AEiE LiZE 63mm S: 17} E&t

80 : Z2IE L 80mm N: NJH ¢

100 : &4=IE] LiZ 100mm

& QEAOR| ZH ¢ J|ErliN =t

e 5= sapter A Afes x ol 2
D—A94K oxx . - SHS ORHE YC(D)aM HITZ 3 AHO|ME &Y
o oy (2414) A st qame ) YCDOM2A, 40-55 Di-AQ4K
e — 7T5AERT BREZ0| AH0|A 20mm Ae)
D-AY4X SHE 244 DC24V
=P
D-AQAX S oAl DC24V NN =
Too
D-AQ4X SHE M DC24V PNP

% QEALIX| J2ME : D-A%K : 1M, D-A94K-L3 : 3M, D-A94K-L5 : 5M

36 YPC



EHY0IE 74 Hy4HH 55 - BEC

YC(D)QM

o X =AY

AU S
AESH S| =Y 7IA
EMAE 0.05Mpa(0.5 kgf/cm?)
Z|DAE 1.0MPa(10 kgf/cm?)
e 1.5MPa(15 kgi/crm?)
7 M SHE 2|HFM
RIAILHE =i
AR IAE & 50 ~ 750 mm/s

XOl
T

2 ASRA 2=

5~ 60°C (41~ 140°F)

g2 7 FE% (SFAI1S0 VG32#)
A x
RHA{H|LHZ KHAILY RS
@ C?Q@@ ©®
g? t! ! \
1 [N _g [N
R I
o PHEZ
=4 2=5Y & H|Z =M BEY & Gl
1 R L2053 ZHAZ0l0|E 1 A SM45C
2 2E7H g20E83 ZEdzolo|E 12 ECNIS AL
3 = YR0lEe= ALUUZO0IE 13 HZzE SCM
4 B 14 7I0IEHZZE
5 O-Ring NBR 15 24
6 2y NBR 16 7I0|ERE EaZ
7 DAERE EAZ = 17 HEEE SCM
8 oAE UR0|EEF J200lE 18
¢ DAEIZY NBR 19
10 opayl NBR 20

www.ypc.co.kr

37

WO DA




¢ 2 X+

> @12~@25/YCQM 2/F

x

|

[T TTKO

2x2x0A

.
N . =
— —
RA RB s
oLk =
47fE=E L Bstr g
Atstr o
@25
mm
SEAQIX| G | EALRIX| £E
SHUZ(mm) | AERT #(mm) EA EB F HA 0A HB A
A B A B
12 5~ 30 265 | 170 | 315 | 220 | 250 | 240 | 50 M3x0.5 M4x0.7 372 320
16 5~ 30 265 | 170 | 315 | 220 | 200 | 280 | 50 M3x0.5 Mdx0.7 37 380
20 5~ 50 320 | 195 | 420 | 205 | 360 | 340 | 55 Mdx0.7 M6x1.0 479 470
25 5~ 30 35 | 225 | 455 | 325 | 400 | 240 | 55 M5x0.8 M6x1.0 5 102 52,0
EEUAmM) | B KA KB L M N 0B Q RA RB T v w
12 315 | 10%01 | 7. 35 155 | 35 65 75 7.0 40 05 149 | 60
16 370 | 14%01 | 99 35 200 | 35 65 75 7.0 40 05 200 | 60
20 505 | 1701 | 120 | 45 255 | 54 90 90 100 | 70 10 | 260 | 80
25 505 | 22401 | 156 | 50 | 280 | 54 90 1.0 | 100 | 70 1.0 | 300 | 80

38 YPC




sa0= 5% wasen 85 -wzc YC(D)QM
¢ 2 Xk
x| A
> @332~@50/YCOM 2&x|4
<
Q P SEAS F 8
—|
i s =
2x2X0A
RA | RB "%'J
W L B+str Z|
Acslr K
mm
BHIjA | AERT HY| | QEAYX YUS QEAQIX| BA
(mm) (mm) A B A B F EA EB EC HA OA HB A
5~ 50 40 23 +0.2
32 75,100 50 3 50 33 75 45 43 344 M5x0.8 M6x1.0 57 60
5 ~ 50 50 29.5 402
40 75,100 65 395 56.5 395 8 52 50 414 M5x0.8 M6x1.0 570 69
5~ 50 46.5 30.5 +0.2
50 75100 505 105 60.5 405 105 64 62 534 M6x1.0 M8x1.25 6", 86
EHLHZ
"(;nt')é B J KA KB L M N OB Q P RA RB v W z
32 585 | 45 |28+02| 198 7 34 55 9 10 [Rc1/8| 10 7 38 10 14
40 67.5 5 |33+£02| 233 7 40 55 9 115 |Rc1/8| 10 7 46 10 14
50 845 7 |42+02| 297 8 50 6.6 11 105 |Rc1/8| 14 8 58 12 19
x| A
> 332~@50/YCOM 2/&x|4
QEALIX|
Q 2P F
™ T T iy
— 1 L R LLJ
ﬁ 2x2x0A
— "
RA__|RB "%'J
WL Bstr z|
Adtsir g
mm
EHUA | AERT MY | SEAYR| IS | SEAQR i
(mm) (mm) P 5 P e EA EB F HA HB 1A 1B J
10 ~ 50 56 36 40,2
63 75100 % % 66 46 77 74 105 M6x1.0 6 " 103 100 7
5~ 50 675 435 402
80 75100 75 535 775 535 98 9 125 M8x1.25 8 g 132 129 6
5~ 50 79 53 40.2
100 75700 89 = 89 63 17 114 13 M10x1.5 107, 156 153 6.5
EH| {7
“(Ent')é KA KB L M N OA 0B P Q RA RB v W Z
63 50£0.2 | 35.4 8 60 9 M10x1.5 14 | Re1/4 | 15 18 105 69 12 19
80 65+0.2 46 10 77 11 | M12x1.75 | 175 | Re3/8 | 16 22 135 89 14| 26
100 80£0.2 | 566 10 94 11 | M12x1.75 | 175 | Re3/8 | 23 22 135 | 113 16| 26

www.ypc.co.kr

39




